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&S X 4 E.%:néf Tﬁﬁﬁ‘(ifﬁﬁ‘ﬁﬁ 73(33(33 X 4 Tﬁﬁﬁg\%l:z(?;kili '(.%:n? 73(33(33 X 4 ﬁa‘; J:ﬁﬁuﬁﬁ‘(i)a)tt% j](gl?licm%)é X 4 J:ﬁﬁuﬁﬁ‘(i)a)tt% ﬁf j](gl?licm%)é
7 100kN/m%#8%z% | 1.00 | 000 ~ 283 144.79 |3mExBZ%| — ~ — — — | 100kN/mM%#8=2% | 1.00 | 10564 ~ 2399 144.79 |3m%E#BZ% - ~ — — —
Fhst 1.00 | 283 ~ 1062 100.00 | #hst | 0.00 ~ 1062| 274 14.69 zhLst 1.00 | 5.00 ~ 1054 100.00 | #hsy | 5.00 ~ 2399| 2.74 14.69
2 100kN/m%#8%z% | 1.00 | 000 ~ 232 136.18 |3m&xBZ%| — ~ — — — | 100kN/m%E#z25 | 1.00 | 11.90 ~ 37.15| 136,18 |3m&x#z2 % - ~ — — —
Zhst 1.00 | 252 ~ 1011 100.00 | #hs | 0.00 ~ 1011| 2.85 15.23 Zhst 1.00 | 5.00 ~ 1190 100.00 | #hsy | 5.00 ~ 357.15] 2.85 1623
3 100kN/m##Bx5 | 1.00 | 0.00 ~ 231 136.03 |3mZz#BAB| — ~ — — — | 100kN/mM%#8=2% | 1.00 | 11.77 ~ 3344 136.03 |3m%E#BZ% - ~ — — —
Fhst 1.00 | 281 ~ 1010 100.00 | #hs | 0.00 ~ 1010| 2.86 15.30 Fhst 1.00 | .00 ~ 1177 100.00 | #hs | 5.00 ~ 35344)| 2.86 156.30
p 100kN/m%#8%z% | 1.00 | 000 ~ 253 139.72 |3m&x#BZ%| — ~ — — — | 100kN/m%i#82% | 1.00 | 11.21 ~ 30.11 139.72 |3mZE#BAD - ~ — — —
Zhst 1.00 | 263 ~ 1032 100.00 | #hst | 0.00 ~ 1032| 2.92 15.65 Zhst 1.00 | 5.00 ~ 1121 100.00 | #hst | 5.00 ~ s011| 292 16.656
5 100kN/m##8Z2% | 1.00 | 000 ~ 289| 145.72 |3mE{BZB| 0.00 ~ 093 | 3.41 1824 | 100kN/mi%#82% | 1.00 | 11.10 ~ 41.31 145.72 |3mZE#BZB| 20.00 ~ 41.31| 3.41 1824
Fhst 1.00 | 289 ~ 1067 100.00 | st | 093 ~ 1067| 3.00 16.05 Zhst 1.00 | 6.00 ~ 1110 100.00 | #hst | 5.00 ~ 4000 3.00 16.05
P 100kN/m##8%z% | 1.00 | 000 ~ 256 14025 |3m&EBZ25| 000 ~ 0.78| 3.33 17.83 | 100kN/m%#Bz5 | 1.00 | 11.61 ~ 4388 140.25 |3m&EBZB| 40.00 ~ 4388| 3.33 17.83
Zhst 1.00 | 266 ~ 1035 100.00 | =hst | 0.78 ~ 1035| 3.00 16.05 Zhst 1.00 | 5.00 ~ 1161 100.00 | #hs | 5.00 ~ 4000 3.00 16.05
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Thilst 1.00 | 000 ~ 612 76.70 | LS | 000 ~ 0.00)] 1.68 9.00 FhLst 1.00 | 6.00 ~ 7.10 76.70 | EnLS | 6.00 ~ 710 1.68 9.00
3 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
zhst 100|000 ~ 476 59.34 | #0000 ~ 476 1.93 10.33 zhs 1.00 | 5.00 ~ 5.40 59.34 | OIS | 5,00 ~ 540 1.93 10.33
9 100kN/mMZ#2Z % — - ~ — —|3mEEZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
Ths 100|000 ~ 411 51.47 | #F0LS | 000 ~ 411|204 10.94 Ths 1.00 | 5.00 ~ 5.00 51.47 | #hLS | 5,00 ~ 5.00 | 2.04 10.94
10 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
st 1.00 | 000 ~ 4.74 59.05 | #hust 000 ~ 474 1.79 9.60 st 1.00 | 6.00 ~ 5.00 59.05 | =ns | 5,00 ~ 5.00| 1.79 9.60
11 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
Ths 1.00 | 000 ~ 652 8214 | #hust | 000 ~ 0.00| 1.70 911 Ths 1.00| 500 ~ 780 8214 | #hst | 5,00 ~ 7.80| 1.70 911
12 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
Thilst 1.00 | 000 ~ 622 7806 | #npst | 000 ~ 622|175 9.36 Thilst 1.00 | 6.00 ~ 7.20 7806 | TnS | 6.00 ~ 720 1.75 9.36
13 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
Thilst 1.00 | 000 ~ 613 76.93 | #nLst | 000 ~ 0.00)| 1.69 9.07 st 1.00 | 6.00 ~ 7.10 76.93 | TnLS | 6.00 ~ 710 1.69 9.07
14 100kN/M%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
Thilst 1.00 | 000 ~ 636 80.05 | =hst | 0oo ~ 000\ 1.71 9.13 st 1.00 | 6.00 ~ 7.50 80.05 | =hs | 6,00 ~ 760\ 1.71 9.13
15 100kN/mM%#8Z % — - ~ — —|3mEEBZB| — ~ — — — | 100kN/mM%#BZ % — - ~ — —|3m%EiEZ S -~ — — —
Thilst 1.00 | 000 ~ 6.09 76.32 | #nLst | 000 ~ 000 1.71 9.13 FhLst 1.00 | 6.00 ~ 7.00 76.32 | #nS | .00 ~ 700 1.71 9.13
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16 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 597 74.80 | #nst | 000 ~ 000\ 1.71 9.14 zhLst 1.00 | 6.00 ~ 6.80 74.80 | =nLS | .00 ~ 680 1.71 9.14
100kN/mM%E#BZ 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Zhst ~ Fhst ~ Zhst ~ FhLs ~
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Fhst ~ Zhst ~ Fhst ~ st ~
100kN/mM%E#BZ 5 ~ ImEHBZRD ~ 100kN/ Mm%z 5 ~ IMEBAD ~
Zhst ~ Fhst ~ Zhst ~ FhLs ~
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Fhst ~ Zhst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Zhst ~ Zhst ~ Zhst ~ FhLs ~
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




